+12v +5V

_ - +12V
+5V —
u1 -1
+
I INF'ET ouTRUT | 12V
+5V L, 7T -
T M
= > =
+§ 7805 +§ .
— T4 -
U3 R2 o= S=Ryg
1 2 1 N RS T
1 > l; o)
22 YT u4 N
3 S—LT—/\{?Y\/—' R)(%1 RX LI 18 o
414 2 1 | 2|10 vs 2
5|8 R 3l vee Kfe
| AN 9= R L oo
= gL
o= © (96370 .- o=
% = V5] % —
ue E PBO(ICP1) Vee ;
T PB1(OC1A) Vee +5V
! 2 o 4! PB2(35/0C1B)
2 5] PB3(0C2A/MOSI) AVee [B= = U7
313 >mso miso<—¢{ pB4(MISO) P
4[4 >sck sck<—Z{ PB5(SCK) )
515 = Reset =—{ PB6(XTAL1/TOSC1) PD@(RXD) [22->Rx s 2
=81 PB7(XTAL2/TOSC2) PDI(TXD) |2L->Tx < 33
Pnz(le)JziE E 4 4
=23 PCO(ADC@) PD3(NTH)—— & ™ ol g
=24 PC1(ADC1) PD4(XCK/TO) (2] 5 .
=23 PC2(ADC2) PD5(T1)97DS o 6
=281 PC3(ADC3) PD6(AIN®) [2 = 77
led_error<—2Z{ PC4(ADC4/SDA) PD7(ANT) l————— 27 R 07 8 g
les<—28] PC5(ADC5/SCL) I s
Reset<-2%| PC6(RESET) o
ADC6 2= 10
ADC7 [#2a oo
21| oD s—
3 20 (O
GND AREF [22-=
1 GND
o ATMEGAB_TQFP
5 =
—

GND
1P

led_error

U2

w N -




